PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
31st July 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

The National Museum that houses art objects dating from pre historic era onwards, functions under
Government of India. /v@nmvﬁqﬁﬁﬁlﬁmgﬂaﬁwaﬁ&ﬁmw YR HIDPIR, %W
AT 3
® Ministry of Tourism / Ried HArTe™
® Ministry of Science & Technology / ﬁ?l'l_"l' Td Hrenfie daray
® Ministry of Culture / Wﬁf AT
® Ministry of Commerce & Industry / OIS Td I AT
Correct Answer :-Ministry of Culture / §&pid HATAT
2)
Question Stimulus :-

In which district is the Waiganga canal? / fora fora & i g %?
* Barna dam / SIRAT €Y
® Balaghat District / dTITdIC forer
® YVidhsha District / m e
e Raisen District / JAQT fordt

Correct Answer :-Balaghat District / STATHTE forat

3)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg foweu

g Sar Fl R IR RewFsE F T 2 -

If you exercise daily, then you will be healthy. / af¢ 3y ufafeT saa™m &= &, @) 39 deosd
g

()



e If you are not healthy, then you haven’t exercised daily. /Hﬁﬁﬂqﬁwqﬁ%} ar
3IaA wferfe sarar =78l fovan 21

e If you are healthy, then you have exercised daily. /tlﬁaﬂq?iw%, T A ufafes
=TT foma 21

¢ If you don’t exercise daily, then you will not be healthy. / afe 3mg ufafe sy &t
PR &, Al MY deo<d gl giil|
e If you exercise daily, then you will not be healthy. / af¢ 3y ufafeT saramm &34 g, a1
31T dGo<d ol gt
Correct Answer :-If you are not healthy, then you haven’t exercised daily. / afe 3mq
doow Tl €, Y 3mum wfafes sararw I8 fohan 1
4)
Question Stimulus :-

FM broadcasting is radio broadcasting using technology. / TP TH YR STV TROT % Elf
RN BT SUHT FRel 21

* Free Movement / Jord Hael

® Frequency Modulation / GI'IQ'I% DT 3dR - deld
® Frequency Movement / Gﬂﬁﬁf T

® Free Motion / ok LIk

Correct Answer :-Frequency Modulation / 3Tdfd T 3R - geTd

5)
Question Stimulus :-

Six persons A,B,C,D,E and F were playing a card game. A’s father, mother and uncle were
in the group. There were two females. B, the mother of A got more points than her
husband. D got more points in the game than E but less than F. Niece of E got the lowest
points. Father of A got more points than F but still could not win the game. / 9%

A,B,C,D,E 3R F U% I &1 Wd T ¢ A1 IYg # A & o, wrar iR == 1 & uigang <&t B, A &1 Arar
B AT IR I g 3T ARIF U §UI W § D FI E A 3HUF W F A $F 3i® UTd §UI E BT Yioh &I &
$U 3% YT g¢I A & firar &t F 9 $ife 3iw Ui g wR v +ff a5 @ =181 oild |

* F

* E

@)



* D

e C
Correct Answer :-E
6)
Question Stimulus :-

Who is the recipient of the Sahitya Akademi award for Hindi poetry for the year 2015? / Tl 2015 § fg=1d

Hiaar & R Wfeqa srpTetft RIHR WIqd A a1 B 72
® Ramdarash Mishra / TG iy
® Dhian Singh / €T i
* Ram Shankar Awasthi / I X< Srqwit
® Brajendra Brahma / EEEEEI

Correct Answer :-Ramdarash Mishra / I79e3T Uy

7)
Question Stimulus :-

Duladeo Temple is located at . /W 'Flﬁ? | @ %I
® Wasvi / 9rgdt
e Antri/ 3fiddt

® Khajuraho / @W
® Sadalpur / HqdYY

Correct Answer :-Khajuraho / GORTal

8)
Question Stimulus :-

In column I are listed certain groups of individuals while in column II are listed some of
the characteristics against each group of individuals which are common to each member of

that group. / WY I AP safwra augl @1 gRa $ar 8,949 & WY 11 & el & 99 99
fayareil &1 ghra Ha1 § S 39 T & TR TS Je™ & ¢ M B

ﬂColumn IjCqumn IIﬂ

(4)



FHIJ Tw
1IK [PT
1JLM lsuw
GHIKM  |RY
GHI IQrRV
FGI [PR
HIJ QTw
1L lQsum
GIJ lPQs

Which characteristics are common to H and J but are not in K? / CaC) i‘ﬂﬁ'ﬁ'ﬁlﬂlﬁ H3RIH
UM 8, g K ¥ 1812

(] P,Q

° Q,R

° Q,W

e RW
Correct Answer :-Q,W
9)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, shgare a
common similarity while one is different. Choose the odd one out. / g uy f{, [g3) ﬂ@ &
e @A A §, <t 9, Fad ve B BisH, JUH & TP TP e 3| fuw ard &1 g |

Correct Answer :-Y

10)
Question Stimulus :-

Which of the following is the world famous mineral region of India? / Frafafea & @ $i9 YR &1 fay wRrs
Qe 87 87

® Shillong Plateau / R TR
®)



® Malwa Plateau / HTddl USSR

® Chhotanagapur Plateau / m TSR

 Deccan Plateau / SFH & TSR
Correct Answer :-Chhotanagapur Plateau / @?HFFER USIR
11)

Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or 1
will have acidity. I am hungry so the bread was not toasted gfe 98 &I ae fpar STaT 8
3R I W AT AT 16T § a1 a1 af § Y@ I8 S a1 g vhafedt 8 st § g § safee
oS DI TR 51 fpar T T

e True / Tgl

e False / TTdd

e Maybe / Bl godT %

e Irrelevant / 3WRIR®

Correct Answer :-Maybe / 8 I&dl 8

12)
Question Stimulus :-
He was Jehangir’s son /ﬁ ﬁ?ﬁ'ﬁ? DI A ATl
® Shah Jahan / RTESIaT
® Aurangzeb / K1
® Akbar / 3PhdX
® Babur /dTdR
Correct Answer :-Shah Jahan / QTgSTgl
13)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe i{ﬁl’[{
Sil T T Syl vd el & R d 9 B

(6)



Statements: / ®Y:

All papers are sheets / 9 &Y & &

All sheets are books / I & fFa &
Conclusions: / fAehd:

I. All papers are books / I. 94 &1 fPal &

II1. All books are papers / 1II. H‘lﬁgﬁﬁi BT &
® Only conclusion I follows / Faa fey 1 Heaar %
® Only conclusion Il follows / ha fors 11 Freaar %
e Both conclusion | and Il follows /aT'ﬁ. Ay 1 Gﬁ? 11 Aopad %

« None of the conclusion I or II follows / =5 I I1 II # | $I3 81
frpaar g

Correct Answer :-Only conclusion I follows /W e 1 fAeadan %
14)

Question Stimulus :-

This person was awarded the Nobel prize for his work in economics. / §H fed & A=A H U &9 &
T idd REPR & Jw™Ti-a foar T@r Tl

® Amartya Sen / 3 A9

® Har Gobind Khorana / 8% Tﬁ'ﬁ’c{ R

® Venkatraman Ramakrishnan / d®%e<HUl RTHPWA

® Subrahmanyan Chandrashekhar / gI&I0dH USRI

Correct Answer :-Amartya Sen / 3 9

15)
Question Stimulus :-

How many temples did the Chandelas build at Khajuraho? / Todl A @w H fopae dfer g-d1y?
® 85

° 74



® 65

° 22
Correct Answer :-85
16)

Question Stimulus :-

Which Bharat Ratna awardees has written the book “The First Decade and After”? / HIRd ¥d Wﬁﬁ ﬁT\q

Hfda A e v fedrs T e fopare ferdt?
® PD Tandon /Ut St ¢
® Chidambaram Subramaniam / ﬁlm B ERLDE |
® Gulzari Lal Nanda / TAWRI @19 -l
* APJ Abdul Kalam / TSI 3fegal HeITd

Correct Answer :-Chidambaram Subramaniam / [RIGFRT gagroqyq

17)

Question Stimulus :-

The President of India is elected by / HIR'd & ?quﬁ"f :ﬂ% gRT ﬂﬁ ST % I
® Member of the Lok Sabha and Rajya Sabha /Wﬂ‘lﬂ 3R IS FHT %m
® Members of state assemblies / ITod ﬁwmaﬁ%w
® Members of the state legislative councils / XTod faem m & o™
® All of the above / SUR & THT |

Correct Answer :-All of the above / U & JHT |

18)
Question Stimulus :-

The Dandi march was part of the /Z;"i'épf T3 foeaeT i%T‘\‘IT r?
e Quit India Movement / HIRd BIS! 3figiad
® Khilafat Movement / (ECRILE] Gl'laﬁq

® (Civil Disobedience Movement /Hﬁ?q . CEI \’rﬂ'cflﬁ:l
(8)



® Non Cooperation Movement / W’lﬂﬂ GﬂT:ﬂT’F-[
Correct Answer :-Civil Disobedience Movement / =T 3ragT 3ficra
19)

Question Stimulus :-

Who founded the Mamluk dynasty? / T&I® a=1 B RITTT forat &1 o2

e Ibhrahim Lodi / SSTeH @Ic!

® Balban / dcid+

® Qutub-ud-din / FAFEIT

e Rukn-ud-din-Firuz / FHJE 9 BRI
Correct Answer :-Qutub-ud-din / $gIEI
20)

Question Stimulus :-

What is the day on 1 June 20807? / 1 S 2080 &I Hi- &1 fa-T 82
e Monday / THaR
¢ Tuesday / HIAR
e Saturday / TfarR

® Thursday / 3dRR

Correct Answer :-Saturday / J-AR

21)

Question Stimulus :-

Which of the following belongs to the same family as Desire, Wish, and Want? / g 7 9 ®19 I I uRar 3 Gaifte
T R & oo, que, ik urea?

® Pleasant / JUq
® Feel / st

® Anxiety / ScgPhdl
* Satisfy / AP BIAT
9)



Correct Answer :-Anxiety / 3Pl

22)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 9% fa®eq

R Sias st IR R s F Ium 3 :

If Ravi works hard, then he can go to Singapore. / 3FR Id HS! Agd HRdl g, al 98 RITYR =1
Thdl g1

e If Ravi didn’t work hard, then he cannot go to Singapore. / 3fR Id 3 ®SI Ag-d 8| &I,

) 98 RiTTR =8 1 "

e If Ravi had gone to Singapore, then he had worked hard. /Wﬁﬁiﬂm‘\’wa, o
I Hot Agd @ A

e If Ravi had not gone to Singapore, then he didn’t worked hard. / 3R ¥fd RITYR 781
T R, A IR B} Aged T Bt ¢

e If Ravi works hard, then he cannot go to Singapore. / 3R I{d $I Ag-Td Hdl g, 9l T8

TR 7Y =1 Jopa 21

Correct Answer :-If Ravi had not gone to Singapore, then he didn't worked hard. / 3R

I RITYR =18 7aT 8, 9 S P! Agd el B A

23)
Question Stimulus :-

Mabhe, which is situated on the Malabar coast on the Western Ghats, is a part of :/ 'FI'I%, uf3rt gre R AR
TR RAES_ oo w8l

* Kerala/ H

® Maharashtra/ HgIRTY
® Puducherry/ Eﬁﬁ
* Tamil Nadu / AfHETg

Correct Answer :-Puducherry / T§TRI

24)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fd&e g‘ﬁ-l’t{
Sl 3T T Syl vd el & aR § 9 R

(10)



Statements: / $Y:

All pillars are walls / I WY daR &

All walls are houses / G AR W&
Conclusions: / ftpH:

I. All houses are pillars / I. G WY &

II. All pillars are houses / II. 9 WH TR &
® Only conclusion I follows / Faa ey 1 Heaar %
® Only conclusion Il follows / %a fors 11 Freaar %
e Both conclusion | and Il follows /aT'ﬁ. sy 1 Gﬁ? 11 Aopad %

« None of the conclusion I or II follows / F=pY I a1 II # | $IS 81
Froadar g

Correct Answer :-Only conclusion Il follows /W forsepd 1| fraar %
25)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been nhumbered. Choose the
option which gives the correct order of the letters as indicated by the

numbers to form meaningful word. / TS B W@H\?{&Rﬁﬁﬁﬁgl TS 3HeR B ASIbd
a1 a1 3| 9% APy gMA st Ird® W F /AT F o Temel &

U § 3gRY ST U HH al o
TLEMNA

123456

e 2,6,4,5,3,1
e 3,24,6,5,1
* 4,3,51,6,2
e 53,2,4,6,1
Correct Answer :-4,3,5,1,6,2

26)
(11)



Question Stimulus :-

Which one of these states does NOT border Bihar? / g TIFﬂ - | ﬁ Th S| ﬁ?ﬂ' @t AT ﬂ'&ﬁ %I
® Assam / 3HH
® West Bengal / uf¥y de
e Uttar Pradesh / 3% WX

® Jharkhand / IRES

Correct Answer :-Assam / 3 "9H

27)
Question Stimulus :-

Following are the three positions of a cube. / g w9 9 §i= Rufear &

TOM RON
I Jing
TACK TOM
15t view 20d ey
ROY
- MEL
3dyiew

What is the name in the face opposite to the face having name JIM? / JIM A
1 W & [T Tae IR 1 A 8?

e TOM

® RON

® MEL

® JACK
Correct Answer :-MEL
28)

(12)



Question Stimulus :-

Pointing to Jane, Austin said, “This lady is the daughter of the woman who is the mother of my father.” How is Jane related

to Austin? / SIF B 3R FRIRT HId §U, & A FeT, "Ug Aledr 3T 3MiRd #1918 s W rar St wi g1 9
ST ¥ $A Yl &2

® Niece / WaTsil

® Aunt/ el

* Cousin / TR} T
® Real sister / SVl I8

Correct Answer :-Aunt / g31T

29)
Question Stimulus :-

A and B are planning to meet each other after office. A can leave office between 5:30 to
6:00 while B can leave office only after 6:00. A takes 1 hour by bus or 30 mins by cab to
reach the meeting point whereas B takes 30 min by bus and 15 min by cab to reach the

same. / A 3R B ST & 9I¢ T g3 I e o1 Ao 1 S8 &1 A 6:00 3R 5:30 99 & o driad
Bls THdl § SdPb B $ad 6:00 9 & ¢ HAITY BIS TPdl g1 A B Tqed I dF 99 § Uga_ & 1 el
TTCT € a7 30 e RA I wrar @ Wafe B &1 981 ugeq | 30 e 99 9 3R 15 e Rt @ @vran 81

If A knows that B is leaving at 6:30 and will be taking a Cab, how late can he start and what conveyance should he take that

he is just on time? / Al ASTHaTg f B6.3oaﬁW@ﬁﬁ'Wﬂ3ﬁ?mmmﬁTﬂ, Afrafi &R A
Aoa 9o 2 SRS HIF A1 98 a1 91t & a8 frem & R R 99y O ugd Wie?

® 5:30, Bus/5:30, 99
e 5:45, Bus /5:45, 99
® 6:00, Bus/ 6:00,
® 6:00, Cab / 6:00, SR
Correct Answer :-5:45, Bus /5:45, d9

30)
Question Stimulus :-

The horn of a rhinoceros is a / ﬁ@T %'\‘:ﬂ"T%
® modified tooth /'\‘i'il'hm E,"I?f

® modified bone / W&’ﬁﬁlﬁm

(13)



® modified hair/ﬂ"&ﬁﬁlﬂw
® none of these/ﬁﬁﬁaﬁgqﬁ

Correct Answer :-modified hair / TN 9T

31)
Question Stimulus :-

The minimum educational qualification to contest for the post of member of Parliament in India is / W%W%

Ue & e g9 we & e WRa # <gaaw Afére dvaar g
® Graduate / HTd®
® Post Graduate / HTABITIX
® SSLC or its equivalent / THUHTAH! IT SHP JHBE
® None of these / STH J B gl

Correct Answer :-None of these / §TH § ®IS T8l

32)
Question Stimulus :-

Which Article empowers the President to dissolve the Lok Sabha at any time before its tenure? / DI 313@?{

P B PRIGTA & Ugd fpeil Hi THT THHTHT BT HT PR BT STUPTR ST 62

e Article 95/ 3G 95
e Article 75/ 3G 75
* Article 85/ 3G 85
* Article 65/ 3G 65

Correct Answer :-Article 85/ 355G 85

33)
Question Stimulus :-

Which of the following districts of Madhya Pradesh shares its borders with 2 other states?/ &I m%ﬁ'ﬁ'

foret & 9 i 91 FoTem 2 3= Il & 1Y 3=t FHATSM BT ATST BT 82
° Alirajpurlm

¢ Guna/THAl
(14)



® Chhatarpur / 9dIYY

® Anuppur / 3JUYY
Correct Answer :-Alirajpur / 3[AIRTSIQR

34)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 9 g ¥, 1gq @ wel & 99 &l veR A F15 Hay 3] Fy Aol & § @y e g=a
e Y 12 F I S TSR $T J69Y g

LXNU : NYPV :: QTBR : ?
® SDSU
® RSUD
® SUDS

® SRUD

Correct Answer :-supS

35)

Question Stimulus :-

1. Six flats on a floor in two rows facing north and south are allottedto P, Q, R, S, T and U.

/ 1. T Hioa UR IR SfR Sfémr &Y 3R are < ufeal & o u%EPQ,RSTsﬁvuﬁmﬁ—crﬁ?qnﬁél

2. Q gets a north facing flat and is not next to S. / 2. Q &I IR P 3R BT Wi fAdT, 3R S & T
u T8 21
3. S and U get diagonally opposite flats. / 3. S 3R U ! fawvia: av@ wie A

4. R next to U gets a south facing flat and T gets north facing flat. /4. R o U & Fd ff%, G|
afeor R Y ik #71 wie frem 3R T &Y IR BT 3R aren wie fa

Whose flat is between Q and S? / e Wi Q ARSsF I %?

(15)



Correct Answer :-T

36)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fooe T;-[ﬁﬂ;f
it fRE T HYHY vd frewul & an § 9 21

Statements: / YH:

All labels are stickers / i fagu= am-uz &

All papers are labels / I &R fagmu= €
Conclusions: / e

I. All papers are stickers /[ 1. I FR AH-1T %

II. All stickers are labels / II. 93 -z fagmu+ &
® Only conclusion I follows / Had e 1 Aeadan %
e Only conclusion Il follows / Fad fsey 1| Aedar 8
e Both conclusion | and Il follows /E.ﬁ:ﬁ e 1 Gﬁ'\" 11 Freaq %

« None of the conclusion I or II follows / fFeFd 1 a1 II # § ®I5 81
frperar @

Correct Answer :-Only conclusion | follows /W e 1 freadar %
37)

Question Stimulus :-

How many combinations of two digit humber having 8 can be made from the following

numbers? / 9 HET1Si & | g Sidi Bt GBS & fba- HaIeH a9 WHd § o4 8 §FM?  8,5,2,1,7,6
9
e 10
e 11
° 12
Correct Answer :-11

38)

(16)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowea

ghg, S ab s IR Re T H & 0 8

It is not true that both Alexander and Hitler are dictators / 98 I 78! ¢ f& TaSle 3R fgeer
ST RFATI® Bl

e Alexander is a dictator and Hitler is a dictator. / TaTSIex & ARMT® g 3R fgeer T
TS g1

e Alexander is not a dictator or Hitler is not a dictator. /Qﬁ@??waﬁ‘aﬂwqﬁ%m

feee e St T8 21

e Alexander is a dictator and Hitler is not a dictator. / TaTeieY U SfUTID g 30X fFeer
T SIfATI® T8l 21

e Alexander is not a dictator and Hitler is not a dictator. /qﬁﬁwwaﬁ%ﬁwaﬁ%aﬁv
feeer us iftFTge a8 21

Correct Answer :-Alexander is not a dictator or Hitler is not a dictator. /E?IT@?RW
ftFTae 81 ¢ a1 feeer Te siftmrae 81 |

39)
Question Stimulus :-

Which one of the following national parks belongs to Madhya Pradesh? / ﬁ'ﬂﬁ‘l@ﬁ = | '\ﬁ ﬁ——r 3l Tl'g']'q 3+
T USRT & Siaifa 3T 82

® Keoladeo National Park / m ?Tg'q REIE]

e Madhav National Park / HIYd Tl'@'q RG]

® Bandipur National Park / Hﬁﬂ'ﬂ? ?T@'q el
* Sanjay Gandhi National Park / Hold TR ?T@'q CEIE]

Correct Answer :-Madhav National Park / HTYd Tl'g']'q ROIG

40)
Question Stimulus :-

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. C is between A and B. F is between E and A. / 9% i A,B,C,D,E 3T F &g Bt &ﬁ?ﬂﬁﬁm
EUIC U A IS EIE, D P TN SRBIC, AMNRBFIFFTARIF, ENRA S T AR

Who is sitting third to the left of A? / A ¥ 91 3R TR HH & I 961 22

e C
(17)



Correct Answer :-D

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Complete the series choosing the missing number: / AW TBAT FAHR YGaT BT GRT HIO :

1,2,5,10,17,26,
e 35
°* 37
® 36
° 38
Correct Answer :-37
2)
Question Stimulus :-

Find the value of " C,_4) / C(y.q) PT HIT IECII D

Correct Answer :-n

3)
Question Stimulus :-

The word MISTAKE is coded as 9765412 and NAKED as 84123. Using the same code, write
DISTANT. / U Tidsfdd HTHT BT YIRT HRd §U Xeg MISTAKE B 9765412 & U § ¥d NAKED HI
84123 ¥ ¥U H forar T 8| TUM Jdhd HT YINT Hd §€ DISTANT ford]

(18)



® 4798165
® 3697185
® 3765485
® 4768296
Correct Answer :-3765485
4)
Question Stimulus :-

The probability of getting a tail in tossing of a coin is / Qﬁﬁl’dﬁﬂ IoTaA § U 3T B HHTGAT %:
* 1/3
° 1/2
°* 1/4
® 1/5
Correct Answer :-1/2
5)

Question Stimulus :-

The series given below contains a sequence of a!lphapets, numbers and symbols. Ider!tify
the incorrect combination: / 1= & T8 sRaaT 3ieRY U T3 BT gehH WANT SRl 8| Tad Ao
LEEIEE]

(i) bc6rox&dfqwz
(ii) bc6rox&dfdw?z7
(iii) bc6rox&dfqw?7

(iv) be6rox&dfqw?

® ii

(19)



Correct Answer :-ii

6)
Question Stimulus :-

In an examination, 36% of the students failed in English and 40% failed in Hindi. If 20%
of the students failed in both subjects, then the pass percentage is/ T®h i ﬁ, 36% BME

3ol A Srg=iivf 8T 3R 40% &< & argiivf gUI afe 20% o SiHY fawal # srg=ivf g1a €, af Siiuf
gferrear gift
* 40%
* 42%
* 44%
* 46%
Correct Answer :-44%
7)
Question Stimulus :-

CANCELLED

A train 125 m long is running with a speed of 45km/hr. In what time will it pass a man who is running at 5km/hr in the

opposite direction in which the train is running?/ IZOIﬁFI'EﬁwaT-MS ﬁTﬁmaﬂWﬁfﬁﬂﬁQﬁ%l forg fe=m
ﬁ%gﬁémmmﬁmmﬁﬁﬁﬁgﬁwmﬁwmﬁﬁﬁﬁm
a4y ?

® 8sec/ 8 A5

* 10 sec/ 10 9%s

* 9sec/ 9 YHS

* 12 sec/ 12 9Hs
Correct Answer :-9 sec/ 9 d&s
8)

Question Stimulus :-

A and B together can complete a work in 6 days. If A alone can do the same work in 15 days, in how many days
can B alone complete that work? / A 3R B 1Y § TP BT B G%ﬁwaﬂ'mél fe A 39 HH BI
15 f&t o H2 GpaT B, @ B 3PA 3T HH P fHaq & & R % APar 82

® 8days / 8 feq
(20)



e 10days / 10 fes1

® 12days / 12 ﬁT{

® 9days / 9 ﬁq
Correct Answer :-10 days / 10 f&=1
9)

Question Stimulus :-

The average price of gold during last year was Rs. 1120 per gram. The average in the first five months was Rs. 1105. In
the next three months, the average was Rs. 1125. What was the average price in the remaining months? / Id T4 &

SR, T P 39T YU 1120 FYY Ul 719 <0t | ugd uia wEi=) & 3 d 1105 T 20t el i< wEAT A
ST 1125 T | Qw7 | sird gew @ A

® Rs.1137.50

e Rs. 1140

® Rs.1135

® Rs.1130

Correct Answer :-Rs. 1135

10)
Question Stimulus :-

In a code, NATURE written as MASUQE. How is FAMINE written in that code? / U@ Hdbd H, NATURE B MASUQE

forga &1 St dd & ramINE BT R e
e FBMIND
* FZMHND
* GANIOE
* EALIME

Correct Answer :-EALIME

11)

Question Stimulus :-
Complete the following sequence of figures. / GﬂTﬁfﬁ & IBCEL o T HIfor:

(21)



Correct Answer :-

12)
Question Stimulus :-
Complete the series choosing the missing letter/s: / AW &R TADH F@aAT B R BIfOT :

aa _ ab _ aab _ aab _ babbb _
® aabbb
® aaabb
® abbba
® abbbb

Correct Answer :-aabbb

13)

Question Stimulus :-

(22)



672/6+(45/3)/(5/9)-(840/120)+13x4=?
° 184
* 174
* 160
* 182

Correct Answer :-184

14)
Question Stimulus :-

436A X 232 = 10B2D80 where A, B, D are representing a numeral, what is the value of B? / 436A X 232 = 10B2D80 \_SIFT
A, B, D BT &, 9 B BT T A &2

e 0
Correct Answer :-1

15)

Question Stimulus :-

] e

of the children are boys. If the numbers of girl is 200.Find the number of
4

boys? / T faemeg #, _rﬁ"ras%a Ife srsfhal 31 9= 200 §, @ d8®] I GBI FPie?

In a school,

e 900

e 700

* 600

e 3800
Correct Answer :-800
16)

(23)



Question Stimulus :-

If PAPER is coded as QCSIW then PROGRAM is coded as / dfé PAPER &I QCSIW { &ifsd foar
1T § df PROGRAM &) TF Sifsa farar s

® QSPHSBN
® QTRKWGT
® QTRKWTG
® QWTRKGT
Correct Answer :-QTRKWGT
17)

Question Stimulus :-

The average of first 20 multiples of 7 is? / 7 & Ugd 20 aggrrﬁ BT 3HRId 872
e 73.5
e 73
® 74.5
* 74
Correct Answer :-73.5

18)
Question Stimulus :-

In a certain code language CRICKET is coded as BQHBJIDS then in that language
BASKETBALL is coded as: / {53l @RI 18 HWT #, CRICKET %! BQHBIDS ¥ Sifed fovar sirar &

39 YT § BASKETBALL &1 0% $Ifsd fbar wem:
® AZRJFSAZKK
® AZTIDSAZKK
® AZRIDUAZKK
® AZRIDSAZKK

Correct Answer :-AZRIDSAZKK

19)

(24)



Question Stimulus :-
A person spends 75% of his salary. His salary is increased by 20% and he increased his
expenditure by 10%. Find the percentage increase in his savings?/ T&h fad oA dad &1
75% T a1 31 ISP 97 A 20% Ft Telad §5 3R I U+ Tl BI 10% d7 f3an] I gaa |
TEIat BT Ff=Tadr J1d B2

® 30%

® 40%

® 50%

® 60%
Correct Answer :-50%
20)
Question Stimulus :-

If the ratio of the area of two squares is 4:9, then what is the ratio of their perimeters?

/ 3R & FTHR & & BT 3JUTd 4:9 g Y I UNRHTY BT 3JuTd FT 82
e 4:1
e 2:3
* 6:5
® None / PIg I
Correct Answer :-2:3

21)
Question Stimulus :-

The value of x in equation 2x-3/x=5is / e 2x-3/x=5 H x &1 1=n=r%
e -1>,3
e 2,3
e 0,1
e 1,1

Correct Answer :-- 171>, 3

(25)



22)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ'ﬁrﬂ 3[&R AP d@dl :3| T PIfoIT :

ab_dd_baa_cd_c_a

® bdbcc

® ccbbd

® cabdb

® cchdb
Correct Answer :-ccbdb
23)

Question Stimulus :-

CANCELLED

The distance between A and B is 52 km. A car starts from A at 3 pm and travels towards B
at 72 km/hr. Another car starts from B at 5 pm and travels towards A at 80 km / hr. At
what time do they meet?/ A 3R B & did &1 g ¢ 52 &l T& &R qUeR 3 T A I = §IH% B Fi

3R 72 i/ der F1 10 A gad 31 T g9 SR AW 5 59 B A & IR A Ft 3R 80 sl der &t wifa
9 Fadt g1 3 forw 999 R e §2
* 8 pm/ (A 8 Tl
e 8:30 pm/ ¥d 8:30 Tl
* 9 pm/d 9T
e 9:30 pm/ Id 9:30 T
Correct Answer :-9 pm/ 3d 9 99l
24)

Question Stimulus :-
A refrigerator is available for Rs. 14168 including sales tax. If the rate of sales tax is 12%. Find the
marked price of the refrigerator? IWW 14168 U H fapl H¥ '\“ﬂ%ﬂ SUds %l fawt s 3t <34
12% g1 Ifperver Ft Rifga Fraa &1 var awme?

® Rs.12650 / =W 12650

® Rs.13650 / ¥UU 13650
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® Rs.14650 / 3=UU 14650

® Rs.15650 / +=UU 15650
Correct Answer :-Rs.12650 / 4T 12650
25)

Question Stimulus :-

There are four alternatives for the following question. Find out the correct one. / Ffavy s

ferg =R fawey g W&t aren g

i. ‘Quo Cui Heer’ means '‘Boy is Good’ / ‘Quo Cui Heer’ PT HAAd & ‘Boy is Good’
il. ‘Lai Quo Mea’ means ‘Meena is fair’ / ‘Lai Quo Mea’ Wﬂ?ﬁl‘d%‘ Meena is fair’
iii. ‘Ruo Lev Mea’ means’ ‘All are Fair’ / ‘Ruo Lev Mea’ W'ﬂ?ﬁl‘q'% *All are Fair’

iv. 'Si Hai Cui’ means ‘Dog was good’ / 'Si Hai Cui’ P Haad § ‘Dog was good’

Which of the following encryptions stands for Mea? / ITE] Qﬁm‘\’r-'-l’f 4 H Mea & foe PIT A1 %?
* Boy
® Meena
* Fair
* Good
Correct Answer :-Fair

26)
Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong
term. / 9 Uy ®, T=0T ST § TP UG TAd §| A UG I DI

34,28,22,18,10,4
e 28
* 22
* 10

® 18

(27)



Correct Answer :-18

27)
Question Stimulus :-
Complete the series choosing the missing number: / AW W= gAHR gaar ﬁ‘BT DI :

7,12,19, ,39

* 29

° 28

® 26

® 24
Correct Answer :-28
28)

Question Stimulus :-

When the price of radio was reduced by 20% the sale increased by 80%. What was the net effect on

sale? / 9 STt B BT 20% HH g1 T T 80% I foew! d g g3 81 fasht W’ pa wuma w12
® 44% increase / 44% g
® 44% decrease / 44% HHUI
® 66% increase / 66% gf&
* 75% increase / 75% g
Correct Answer :-44% increase / 44% qfs
29)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / % 33 T IR val & & T o T 1@ & s 99 H S 91 TP T8 82

Pacific Rim Adventure Expeditions (PRAE)
3009 E Kaiser Drive

Santa Clara, California 95051-4734
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(408) 296-8444

(i) Pacific Rim Adventure Expeditions (PRAE)
3009 E Kaiser Drive
Santa Clara, California 95051-4734

(408) 296-8444

(ii) Pacific Rim Adventure Expeditions (PRAE)
3009 E Kaiser Drive
Santa Clara, California 95051-4734

(408) 296-8444

(iii) Pacific Rim Adventure Expeditions (PRAE)
3009 E Kaiser Drive
Santa Clara, Califronia 95051-4734

(408) 296-8444

(iv) Pacific Rim Adventure Expeditions (PRAE)
3009 E Kaiser Drive
Santa Clara, California 95051-4734

(408) 296-8444

® jv
Correct Answer :-iii

30)

Question Stimulus :-

(29)



How many rectangles are there in this figure? / 9 efa & fFa+ emaa €2

N\

® 11

Correct Answer :-11

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The crop that is grown in rainy season &requires lot of water is / Il S 9Ty & HeH o 31TI'£ EIGi % 3R
R 9ga 9R Ul A ezl gl &

® Wheat/ ﬂf{
® (Cotton/ ?a—é
® Mustard / I3
® Paddy / &I

Correct Answer :-Paddy / YT

2)
Question Stimulus :-

Find the length of the diagonal of a cube, which has a surface area of 1800 m2 / T& U & famul &1 E'I-TSI'I% Jd ar?ri%rq,
RraeT g e 1800 Hex 2 @

1043 m
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B0m

103 m

® 30m
Correct Answer :-30m
3)

Question Stimulus :-

After flood, the river bank was found to have a different soil texture. This is due to the accumulation of a large

amount of / §T& & §T1¢ A1 BT fH-IRT ST Yol &I gATae § UAm ™11 I8 3P urn § foras

HIGUT & BIRUT GoT?

 Sand/TTq

® Silt /7T

* Clay /It gar

* Rotten leaves / TS1 §3 URIdi
Correct Answer :-Silt /¢
4)

Question Stimulus :-

Eucalyptus trees are planted along the sides of sewage ponds. This is because / Hafrd & a%’ HT%?ITI?T GIGIEI]
& GIHI feRmTSf H TG &ITd | UHT ST § HiTP

® They reduce the foul odour in the air /% a1 | §ﬁﬁ[ Y P BH BId %
® They absorb carbon dioxide from the sewage /%r aﬂ%?m?r T P 3133{‘@133 BT TINYUT B ad %

® They absorb waste water and release it as pure water vapour into the air / 'ﬁﬂ?ﬂaﬂ S BT SARNYUT HT
g # Y& Taary &I e $d &

® They provide shade to sewage ponds / GRS qraTal B ST WG Hd %

Correct Answer :-They absorb waste water and release it as pure water vapour into the air / ‘{-ﬁ‘?‘l’ﬁq il

BT TN Y a1 | Y& STaary & FFjad ad &

5)

(31)



Question Stimulus :-

Some potted plants cannot withstand over watering. Give reason / PO THA & ﬁél 3rferes ur=it e qﬁ Xy
THd | FRUT 7T

® Leaves will turn yellow /q'f';\'l'lﬁ" U] Us T“lTQTﬁ

® Water will be wasted /'CIF'ﬁ EITSI'T_Q" E-pf SITEIT

® Roots may overgrow to break the pot / Fi%' TGl 3 H T Bt ?'ﬁg Todt %

® Roots cannot respire as they get drowned /tI'F'ﬁ = Wral '§'§ﬂ sﬁ & PR Gf?; g q’iﬁ o gopdl %

Correct Answer :-Roots cannot respire as they get drowned / i H wTer Tﬁﬁ Eﬁ% ¥ BRI \—ﬂ% g
T8 o gl §

6)
Question Stimulus :-

The main constituents of soil are / Hql & iR HgeH g
® Airand water / AIg AR 5a
® Water and plants / STd 3R qY
® Rock particles and humus / S HUT 3R egHY
® Airand plants / dIg 3R W

Correct Answer :-Rock particles and humus / U BT 3R eqHd

7)
Question Stimulus :-

The third proportional to (x2 = y?) to (x - y) is : / (x* = y?) ¥ (x — y) BT FIT AT &:

[ ] x+y

-y

X+)
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X—y

Xy
Correct Answer :-

8)

Question Stimulus :-

Which of the following is a factor of * ** " "Po / fmddemar © F B
BT UIUET 872

|x+3]

. T
[x—3]
lxc+2

. .
[x—2]

(=13
Correct Answer - :

9)
Question Stimulus :-

One of the following forces is used by animals to carry out physical activities /ﬁ'ﬁ A Uh ddd STHSRI IR

RIS foparei ot w=t # wa foear simar §
® Electrostatic Force / fRIX dgad aa@
* Magnetic force / GIHIT T
® Gravitational force / &I §0

® Muscular force / U=y 9d

Correct Answer :-Muscular force / U= g

10)

Question Stimulus :-
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xs’ -8 XEI -8

¥ ¥o9r
If and x + y = 1, then x and y are / afe AMx+y=1dx
GﬁTy—%l

® x=2,y=-3

® x=2,y=3

e x=-2,y=3
e xX==-2,y=-3
Correct Answer :-x ==-2,y =3

11)
Question Stimulus :-

Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from

five different Schools. / ¥ a1fereT &1 wa9 A U 3R Faral @7 wia9 &1 A1 & 78 aifereT # ui= fafvs
Tpdl I U™ fual & 20 @S] iR 20 TSPl GRT YW Sfi¥Fd 3iw i 21

BOYS TABLE /8! T dTferant
Subjects Max. S rhanl
FACLE Marks/
HEad
HF 2 o] R 5 T
Englizshy
. 200
FT 85 80 100 65 105
Historyy
IR 100 a0 a5 50 40 65
Geog/
STl 100 50 40 60 50 60
Maths /
I 200 120 g5 135 75 130
Science/
EEIG 200 105 110 125 85 140
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GIRLS TABLE / st <t anfer=mr

Subjects Max. Srhaonl
JEST Marks/
LT HETE

HT P Q R 5 T

English/
. 200

FAGAr 80 75 110 60 110
History/
3|—E AR 100 50 50 55 45 60
Geog/¥q
et 100 40 45 55 55 65
Maths/T
(LI 200 110 85 130 80 135
Science/
EEIC] 200 125 120 115 o0 135

What was the difference between the total marks obtained in mathematics by boys from school R and the girls from school
s? / faenera R & AsH! GRT UTW TG & Fa 3ip] R fTamey s @1 dsiebal & gRI Ut 106 & $d 3b] |
e SR UT?

® 800
® 1100
® 100
® 1200

Correct Answer :-1100

12)
Question Stimulus :-

When we rub a glass rod with silk, / SId 8H T e B Nep & 91y IS d %
® Glass gets negatively charged / TdTH HUrTALh T:?f SIGH %
® Glass gets positively charged / TdTH T3 E?f IGH %

® Silk gets negatively charged / Rrew Hursmazh Epf SIGH %
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® Glass gets positively charged & silk gets negatively charged / TdTH YT 3ATARIT 33[ SITdT % 3R Riew
HUrmasit g ST @

Correct Answer :-Glass gets positively charged & silk gets negatively charged / TdTH UEEIGRI) E?f SITdT %

3R Riew BUTSmaz g &iraT 2

13)

Question Stimulus :-

If the area of a semi-circle is 10 m2, the area of the circle is / g fodt GI?IQH Ca)
aTwd 10 Hev2 7, df 39 gd &1 &T%hd 2l
e 5m2/ 5 #HeR2

e 10 m2 / 10 Hiex2
* 20 m2/ 20 Hiex2
e 15 m?2 / 15 Wex?
Correct Answer :-20 m2 / 20 Hiex2

14)

Question Stimulus :-

Find the area of a circle with radius 35 m. / 3 dd &I eam JTd aﬁﬁrq et BT 35 Hiew %I
e 220 m?/ 220 HIeR 2
e 3850 m?/ 3850 Hiew 2
* 3850 m /3850 ez
o 440 m?/ 440 Hex 2
Correct Answer :-3850 m? / 3850 Hlex 2

15)
Question Stimulus :-

Which one of the following is an example of a rough surface / Faferiaa 7 PH Uh & Y8 PT Iqlgrul g

® Glazed tiles / JH®GR clgd

® plane mirror / JHdd guur
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e Oily surface / 4T U¥
* Soles of the shoes / @l & A&

Correct Answer :-Soles of the shoes / Sdi & @

16)
Question Stimulus :-

Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from

five different Schools. / 7Y TIfPT ®1 &9 ¥ U R FaTel &1 SaE &1 1 & 78 aiferer & i f[fte
pdl ¥ Ui fawal & 20 @1 iR 20 TsfFal gRT uTw Sfiwa oiw Wi 21

BOYS TABLE /TSI =T diferanm
Subjects Vax. Srhanl
FAGLR Marks/

HEHaH

HF P Q R 5 T
Englizhy
. 200
FHaGT 85 g0 100 65 105
History/
SR 100 40 45 50 40 65
Geog/
STaTTe 100 50 40 60 50 60
Maths /
o 200 120 o5 135 75 130
Sciencef
ENICH 200 105 110 125 85 140
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GIRLS TABLE / st <t anfer=mr

Subjects Max. Srhaonl
JEST Marks/
LT HETE

HT P Q R 5 T

English/
. 200

FAGAr 80 75 110 60 110
History/
3|—E AR 100 50 50 55 45 60
Geog/¥q
et 100 40 45 55 55 65
Maths/T
(LI 200 110 85 130 80 135
Science/
EEIC] 200 125 120 115 o0 135

The pooled average marks of both boys and girls in all the subjects was minimum from which of the following schools? /

Tt fawal & ST dTsw! ofR wsfedl A Py fRenea & <gAaw Siua o urd $a?

Correct Answer :-S

17)
Question Stimulus :-

In the given figure AABC ~AAPQ. If AP = 4, PB = 3 and PQ = 5, find BC. / & T
3Ppfd # AABC ~AAPQ | Tfe AP = 4, PB = 3 3R PQ = 5, BC JTd ®l|

A

* 875
(38)



® 10

e 7.25
Correct Answer :-8.75
18)

Question Stimulus :-

The green leaves and also green young stem prepare food by capturing energy of the sunlight along with carbon

dioxide and water. This process is called / <1 Tf<Idi aﬁ'\ra‘\fgma‘?r mq&maﬂﬁﬁ%?mmamaoﬁq
SIS S SR U P ATY WIRI 4R R 8| I8 Ufshar Soama! o

® Autotrophic nutrition. / W'Chﬁl_d Ly |

® Heterotrophic nutrition. /'QTfﬁﬁl?f TIyoy

® Saprophytic nutrition. /H‘cﬁﬂa Yoy

® Photosynthesis. / UDPIRT AT
Correct Answer :-Photosynthesis. / UPI2I R RG LS
19)

Question Stimulus :-

Wind currents are generated due to / dTg ‘f'-I'ITI'Q' 3'\‘:@; DIRUT IdUA '&ﬁ?ﬂ' %

® Heating up of air / Bdl DI o 'Eﬂ_"IT

® Cooling of air / Bdl I Maa aTIT

® Uneven heating of air on the earth / T{"-é’f TR gdl &I IHHTA e 'E?FIT

® Variation in the wind speed / dTg & a1 ¥ fisrg ufvad=
Correct Answer :-Uneven heating of air on the earth / 'E[’&ﬂ' TR gdl Bl HHATH o T;-ﬁ_"IT
20)

Question Stimulus :-

Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from

five different Schools. / Y aIfereT ®) to= A U 3R JaTal &7 S99 &1 1 & 7 arfereT & i fafvm
Wpdl 9 Uik faual & 20 de@! 3R 20 dsfHal gR1 U i 8w =M 71
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BOYS TABLE /TSI =T dTier=nT

Subjects MMax. Srhanl
AL i Marks/

Hit=gH

HF p a R 5 T
English/
. 200
FHAAT 85 80 100 65 105
History/
Sioer® 100 40 45 50 40 65
Geog/
ST 100 50 40 60 50 &0
Maths /
I 200 120 05 135 75 130
Science/
TAT= 200 105 110 125 85 140
GIRLS TABLE / STSf&vT 3T eTier=nt

Subjects Max. Srhanl
FAGLEg Marksy

=g HA

Sl P Q R 5 T

English/
. 200
kipiy a0 75 110 60 110
History/
g 100 50 50 55 45 60
Geog/#
er 100 40 45 55 55 65
Maths/T
ot 200 110 85 130 80 135
Science/
[EECY 200 125 120 115 50 135
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In case of which of the following schools was the total marks obtained in mathematics by girls in Mathematics 100% more

than the total marks obtained by boys in History? / ﬁaﬁ«r@a faemeral A fog ey +t T’I@';ﬁ")_cﬁ & o | Pd
3 gfaea # @i gRT U P 7T 3T A 100% SaTaT 8?2

Correct Answer :-S

21)
Question Stimulus :-

To stretch a bow, an archer applies a force that causes the bow to / ¥H H W9 & 1%11“1, Th 'cﬂmaa GRIGH %
Y rqu A gg glar @

® Change in shape / 3ITPIY # uf¥ad+

® Change in density / THIdI # uf¥adq

® Change in volume / 3Tdd- # ufRgda

® Change in state of motion /Tlﬁf &1 erg=yT H ufyad=

Correct Answer :-Change in shape / 3ITHR H i¥ad

22)
Question Stimulus :-

When a current carrying wire is placed near a compass, its needle gets deflected because / STd YIRT dg+ CoE |

913 TH R D! TP HWN & URT IWT 41 §, TP g3 ST 3R TH ATell § T
® The compass is a tiny magnet / HHIRT Uh BIT YIP
® The current carrying wire behaves as a magnet / ¥IRT dg- A areT R W ) AaRg HUdgIR hdl %
® The current passes through the compass / P & AT I ﬁgﬂ?[ YRT '{Fﬂ_tﬁ gl

® The compass gets magnetized / PHITH ﬂﬁﬂﬂ'ﬂ' HACIGI %I

Correct Answer :-The current carrying wire behaves as a magnet / IRT dg- P IIeT dR ECE G|
IRE HAER HYdl §

23)
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Question Stimulus :-

Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from

five different Schools. / Y aifereT &1 w9 A U 3R Haral &7 wae &1 A1 & 7 aifereT A ui f[(afde
Tpdl I U™ vl & 20 @1 iR 20 TPl gRT UTE 3fid siw Wi g1

BOYS TABLE /TS5 a1 elTier=nm
Subjects MVax. Srhanl
AL Marks/
IECTE
HF P Q R 5 T
English/
. 200
FHGT 85 80 100 65 105
Hiztory/
SRR 100 40 45 50 40 65
Geog/
CUIC) 100 50 40 60 50 60
Maths /
o 200 120 o5 135 75 130
Science/
EEIG 200 105 110 125 85 140
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GIRLS TABLE / st <t anfer=mr

Subjects Max. Srhaonl
JEST Marks/
LT HETE

HT P Q R 5 T

English/
. 200

FAGAr 80 75 110 60 110
History/
3|—E AR 100 50 50 55 45 60
Geog/¥q
et 100 40 45 55 55 65
Maths/T
(LI 200 110 85 130 80 135
Science/
EEIC] 200 125 120 115 o0 135

In which of the following subjects did the girls have highest average percentage of marks from all the schools? / IGE] fawar

# 9 fra & asfral 7 Wt Tpai & oidl & Iwad Sfikid Ufdra S/ g2
* Science / a3
® Geography / i
* English / 3SR
® History / 3fder

Correct Answer :-Science / A3

24)

Question Stimulus :-

The mathematical expression for calculating speed is / i &t 7T & m TR srfyreafaa % :
® S=D*T
® S=D/T
e S=T/D

® S=D-T
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Correct Answer :-S=D/T
25)
Question Stimulus :-

Evaluate 2sin 45° cos 45° / 2sin 45° cos 45° &1 JRI®T &1 |

Y3

Correct Answer :-1

26)
Question Stimulus :-

Read the following table carefully and answer the questions given below. The table given
below contains the average Marks obtained by 20 Boys and 20 Girls in Five Subjects from

five different Schools. / 71 a1fereT &1 a9 A U 3R Hara! &7 wae &1 1 & 78 aiferer # ui= fafs
Wpdl 9 i v & 20 de@! 3R 20 dsfHal gRT U i 3w =M 31

BOYS TABLE /501 T aiferanm
Subjects Max. Srhanl
FAGLE Marks/

HiE=aH

AR P o] R 5 T
English/
. 200
T 85 80 100 65 105
Hiztoryf
Sigr 100 40 45 50 40 65
Geog/
CHIC 100 50 40 &0 50 60
Maths /
Mo 200 120 95 135 75 130
Science/
T T 200 105 110 125 85 140
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GIRLS TABLE / sTSf&mT ar amier=nT

Subjects lax. Schanl
J AT Marks/
T
Sl P a R 5 T
English/
. 200
FEEr 80 75 110 60 110
History/
§|_E %1 100 50 50 55 45 60
Geog/¥
Tt 100 40 45 55 55 b5
Maths/T
o 200 110 85 130 80 135
Science/
EEIE] 200 125 120 115 o0 135

What was the total marks obtained by boys in History from School Q? / Q feerg & ds@l gr sﬁﬁm T e fHa
T $d 3iF F1 42

® 900
® 1000
® 300
® 1300
Correct Answer :-900

27)

Question Stimulus :-

Some pears are packed into a box in stacks. Each stack has the same number of pears in each row as the number
of rows. The number of stacks is also the same as the number of rows. If there are 78 stacks of pears in the box,

the total number of pears in the box is /WWﬁWWﬁ%Wﬁaﬁ?%l TAP e Bl
Td® Ui # TARaraal 1 9 1T, iRl 68 & 99H 21 &) $I g i ufeaal #t I & 99 g 21 afe
I ® TRmvIfaa & 78 X §, df 99 # AR #) g g=i gl

® 474265

® 474556
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® 475433

® 474552
Correct Answer :-474552
28)

Question Stimulus :-

Which of the food items give blue-black colour with iodine solution? / PI--91 QT tl?.T?f S A gAh
em-wrer 1 341 82

® Mustard oil / Il A9

® Palak / UTdlh

® Dhal / g

® Boiled potato / 3T 3T 3T]
Correct Answer :-Boiled potato / 3T §3IT 3Te]
29)

Question Stimulus :-

The strength of an electromagnet depends on / Tch ﬁ?ﬂ?f ECED ot grar ik ot AW :
® Strength of current / HIRT ®I Yaeral
® Number of turns in the coil / g’_é'»?ﬁ | ﬂ'ﬂﬁﬁ P TWT
® The time for which current is passed / dg dHYI e Rt WI%?T Eo;]_tﬁ %
® The direction in which the current flows / f&=1T R/aH RT <t 8
Correct Answer :-Number of turns in the coil / FEAl § FATAl DI TG
30)

Question Stimulus :-

It is known that 25% of a certain fruit are rotten. If the number of rotten fruit
is 45, then the total number of fruit is: / I8 W14 ¢ fob T i3 B o1 25% WS g
21 fe 92 8¢ wal % 9@ 45 §, o) ©al 91 $d TS 8:

® 150

® 175
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